Credit Percentages - Solutions

. ROIo Pa.per 2 9.\ "
©

¢ 25% oF L0000 = 210006

t 100% -28% = A5% =05 v

!

|
2 | 84000 —2)100e= ©3CCO0"
. wergnt oftu 3days ~(0F5) x BuECO

- 25 % of 3000 = i IS0

= 3543AS o E2O00 - 15ISO = WSO v
washt = 35LOD t Lgs'.gﬁsg) ‘2S% of LAFSC = 1IBI2S
s weghtz 03250 - 1t312'S
weight = 351 3% 5 o

|
; merght = 3Suoe t (359 F"‘J‘\(qu)

2e 2005 Poper 2 &8 "

(o
(
* 0% Ao =
v I00% -20% =80% =08 o | OP 15
Qo ~\1% = 3F
* fak e ntent " . 2 o
apts 3ys = (08) xS0 "20% of 2 = kel
= uboSg. |
— 12 -iuwu = SRS v
¢ B0% of [0 =uUBg S the [
206 Y b= 11:52
COmpony s sl losg B
I 5‘44‘ s 5 = b v

csee metnod i @r csuee

(4RE)

3. 2cos Pa,pe/z @\

"8% of L2ooe = 230

0'00% “'gi bt ‘08‘1 zlnog \/-

(<2
f
|
l
| #2000+ 33Co = uSB6D

¢ Amount of waske

aptu 3yrs = (l'OS‘)zx' LZXoo | v 8% °F LS50 = 22S-%
= 62901 9L : SEELE ¢ S ® WRHEE R W

waste = 52900 (3s9pgs) |'€% of 48ABER = 39@- 10U
vecyeled = -

:Negw = LBASS'S + 2A1 -0y
‘ = 62903 90¢
werght = S2900 (3393133)/

(4!50)

e 20086 lepes 2 & 3 (Ca.twa:%vx\f) ons\nn.l.. mn:cuvvt>

VT e = BO% o ovWal « US
I % ongned=  WSTE0
IOt of ©ngral = US < 8O <100
on\gviek cost = £ S 25



1Io0% + Wt =10,

HO% q‘_ P,-.QQ_,:
| & of pPncee =

(R iy &8 o‘: :Pr\u).z

5. 2007 Poper 2 &I
or
. oo ths% =oust =teus - | ¢ WS%oop o = 23
¢ VAL aGs 3 g : boo a2 = ¥
yeors = (1-ouS) x b | WS o 21 = 28-215
Vawe =fosuro | 627 +28. 215 = 655:2i5
. T HSY of 655°US = 29-L8LEIS
Cneovest Perny) l ' F e
| tbssSh S+ 29 usueds = [y o
: Necrest peary.
: noe . |ounch1.\¢j 40 necvest pennig
‘ +hr38v\ouf M WUl gwe the
b 2006 Coper 2 (S ( corcdale owsvxo._x.— M) A
\oc% t8% = (08T . v
io8% of b pree. T 2L
% of bdkpice = 224 Fi08 -~
oo of bud pace = 324 L iEx o0
ol pn e = £3DD- v
e
nde! Moo could guess v amedt bk wdh need o
Mo endea e OF hous oo deacked en finak cnsose .,
* AL Caswe of 1300 LU e LSKUAG WU gek S movics.,
F. 200U P@uz S\ orl‘
_ . 20% of 2SO0 = 50
¢ I00% -20% = 80b =0-8 v~
¢ 1Znoon - Zpme 3hrs I0=80 = 200
e 20% QF 2.0 = 40O
Y Rmoun t °F dr09 3 o 200 - W0 = |0
b pm = (0~8)X23)
=128 mg v *20% of \0O = 37 >
loo- 32 = I?.SM,g
(3w)
8. 200% xpes 2 ©6. (coleada ™9 ongwak amoant)

4830
W3- Ilo
1S S0 HOKIDO

Phee = £125




G. Qoc3 Po..Pu 2 &\

or
*IOC% + o b% = \0Cb% [ . 0% of scoo = 20
= l-ooe | Soco tAUs = SO3o -

© A3pmn = (1-ooe)’ x 5o T

So0Y 50 v

5090 bocteaa v~ *Ore% of SO0 2 30 3o
R IR + U z SO0y v~

tOlo% of 3020 = 304
S0 +A0E = S Oois vV

n

(Bagags) o
Ag AoS At 3pm = SCA0 bectena ( 2sgegs)
( L)
0 2002 9&42} b2 (SN 2 Lcmw% the ovggv\odL m\/\k)
*lOCh + 138 2 S -
‘ 3 5% of prce = IS0
1% of Pre = S0 5 1S -
00 of pnwe £ ISD = 135S <100
Price coumask VAT = £123:60 (neovest perny) (e
M 2o0on Popes 2 QY
house ©  00% '(’6% z \OO%% =105 Con"ent_s L OS% —8 % = SI2% =09
1994- 2002 = 3ys Value of tonleats « (o.qz)zx bocoo
3
VO.U,\.Q,QF house = (l.oS}xqm \/ =fu_(a}7_\ £\)/
C es
=[ 104186 (nocvesr P) e
Torol Yol A 2002 = LOLWS + kbF2 |
- fuso,qo? v

NOR . TWis con e done usng e ‘lang’ mead e, weric ouk
e % thea + o~ oo Prun 3 4umes,



* 2% oF SL0O 2 OO
S00-boec = LLOO v
v 2% of LuoD = 58

P LO0% -i2% = 88% O'8E -~

2. 2000 Copey 2 &) O[Y‘
l
@A - 2002 = 3Ys |

|

v~
°0° of monleys = (688} < 5w LuLos - S2% > 23812V
= 3LOot: 3o < "12% of 2RI =2 L b4
= 340 (necs 1o '
\/) 3212 - Liou = LT3k

= 23L10 (necvest 10)

(Weo)

€3, 889G Papel 2 S | ( coucdaile +ne orygﬁa.L Muou\rut)

Lo - 12'2% = @39 = oD
5% of o ignode pree 2 10,500
\ % of‘mvgha,l, pnee = (0,9 = S

oo %G of‘ OV\SV\CR.L P-\‘_j, z fey=0 %Q'SK[OO

Onignatl pace = £ B,oco v
(2)
nafe w Corveck a&w,ngWij,Mgot NS ~oJkS .
i 199 ® 5

ISt may =2 SO - 1o = uoo

e Mmay => 1025 xuoo =u © (1o +253% =02-3%
=l-0w5

19w Juae = Lw - oo =z FO A

Brat e 3 11025 x UO * I35
B Juy =D 3138 ~co = 23635

e Tl 7 VeoRS RIS = RE T | et po)

The oomounk ouk onding ok the ‘929"”"‘*"—3

(o aq A‘ugu.s‘r 1S £DQ3'i‘=) \/
(31003



- S 6E &.122

e Se'3 - Bya =1y Vv

% increase = -4 0o = ;2"35"4;\/
549

¢ IOOPB + 2SSE =2(02'SST = 140255

v

“Pace n 2000 = (1-0255) < B3

(4Re )
= ©2°3p (ldps) -

noke . U con use tre qong’ metnoed 12, waVie auk 2'SS'°6)

ocel X on |, do s 4 tuves i oead. Roundwvig 1o

| decrmar pPlace +VVQ,8K00+ g U gwT

on ensSwd of 2 2p .

b . Qs A%

Cdy Squt , Aloet Sq , Hgh St cue aleady belaw

135 onuks, Portnes recbochone (suL meen ey ove S v
less thon 135 unids

OO S = A9S% =z o Qs
. N%’CL Cerle
.3
(0as8) x lel = 123 v’

&os Sonon

( 2 1/
(oas) x b= 1r2g

= AW tne \TDLC;\C.G/D e>ccept waJﬂaKm Cel e LUl

meekt thvie hecu o m@ut&ho«ts. v

(+2€)

A+ AGu &2

IO0% +5°% 2 lOD% 2z 1«05 v

ne of pecpe = (|~O6\3 X 2 muwion Y

- Wi on (a0




&. A2 Pages 163(k0O - use acalcatator)

Pluchase Pae = 1000 . Nan woud be (eplaw@ o wnet

Value w belows 1 BO0O .
: ¥ o y ] - s
st yeor & oA xloo00 - i12oo
2 gr = ges xl1zes = AS520

e Lo % => 0.8 x G520 = 8092 v~

The Yo wul be ieplacec ak Fhe onaof

\/
‘e Li—m&r o U2 valuoe oA folld belao f_%sooc
dusng ™Me  Lin geol. (len)
. 1990 Papy ) 63 (ko - use o cakectador)

v~
h.e,«g’vdc SN M boune = (O-}ng 260
= &8 e v

= & C (necvesk Cm) = (u.k,u)



